
Conv2d 3x3 / (2, 2)
32 filters
r=(3, 3)

BatchNorm2d
r=(3, 3)

relu
r=(3, 3)

Conv2d 3x3 / (1, 1)
32 filters
r=(7, 7)

BatchNorm2d
r=(7, 7)

relu
r=(7, 7)

Conv2d 3x3 / (1, 1)
64 filters

r=(11, 11)

BatchNorm2d
r=(11, 11)

relu
r=(11, 11)

MaxPool2d 3x3 / 2
r=(15, 15)

Conv2d 1x1 / (1, 1)
80 filters

r=(15, 15)

BatchNorm2d
r=(15, 15)

relu
r=(15, 15)

Conv2d 3x3 / (1, 1)
192 filters
r=(23, 23)

BatchNorm2d
r=(23, 23)

relu
r=(23, 23)

MaxPool2d 3x3 / 2
r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
48 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
48 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 5x5 / (1, 1)
64 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
96 filters

r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 3x3 / (1, 1)
96 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

Conv2d 1x1 / (1, 1)
32 filters

r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
48 filters

r=(31, 31)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 5x5 / (1, 1)
64 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
96 filters

r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 3x3 / (1, 1)
96 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (2, 2)
384 filters
r=(47, 47)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

max_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 5x5 / (1, 1)
64 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
96 filters

r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 3x3 / (1, 1)
96 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

Conv2d 1x1 / (1, 1)
64 filters

r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
96 filters

r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 3x3 / (2, 2)
96 filters

r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
128 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
128 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
160 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
160 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x7 / (1, 1)
128 filters
r=(31, 79)

BatchNorm2d
r=(31, 79)

relu
r=(31, 79)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 7x1 / (1, 1)
128 filters
r=(79, 31)

BatchNorm2d
r=(79, 31)

relu
r=(79, 31)

Conv2d 1x7 / (1, 1)
128 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

Conv2d 7x1 / (1, 1)
128 filters

r=(127, 79)

BatchNorm2d
r=(127, 79)

relu
r=(127, 79)

Conv2d 1x7 / (1, 1)
192 filters

r=(127, 127)

BatchNorm2d
r=(127, 127)

relu
r=(127, 127)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
160 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
160 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x7 / (1, 1)
160 filters
r=(31, 79)

BatchNorm2d
r=(31, 79)

relu
r=(31, 79)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 7x1 / (1, 1)
160 filters
r=(79, 31)

BatchNorm2d
r=(79, 31)

relu
r=(79, 31)

Conv2d 1x7 / (1, 1)
160 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

Conv2d 7x1 / (1, 1)
160 filters

r=(127, 79)

BatchNorm2d
r=(127, 79)

relu
r=(127, 79)

Conv2d 1x7 / (1, 1)
192 filters

r=(127, 127)

BatchNorm2d
r=(127, 127)

relu
r=(127, 127)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x7 / (1, 1)
160 filters
r=(31, 79)

BatchNorm2d
r=(31, 79)

relu
r=(31, 79)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 7x1 / (1, 1)
160 filters
r=(79, 31)

BatchNorm2d
r=(79, 31)

relu
r=(79, 31)

Conv2d 1x7 / (1, 1)
160 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

Conv2d 7x1 / (1, 1)
160 filters

r=(127, 79)

BatchNorm2d
r=(127, 79)

relu
r=(127, 79)

Conv2d 1x7 / (1, 1)
192 filters

r=(127, 127)

BatchNorm2d
r=(127, 127)

relu
r=(127, 127)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

avg_pool2d
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

max_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x7 / (1, 1)
192 filters
r=(31, 79)

BatchNorm2d
r=(31, 79)

relu
r=(31, 79)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 31)

BatchNorm2d
r=(79, 31)

relu
r=(79, 31)

Conv2d 1x7 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

Conv2d 7x1 / (1, 1)
192 filters

r=(127, 79)

BatchNorm2d
r=(127, 79)

relu
r=(127, 79)

Conv2d 1x7 / (1, 1)
192 filters

r=(127, 127)

BatchNorm2d
r=(127, 127)

relu
r=(127, 127)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
128 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 5x5 / (1, 1)
768 filters
r=(63, 63)

BatchNorm2d
r=(63, 63)

relu
r=(63, 63)

flatten adaptive_avg_pool2d
r=(63, 63)

Fully Connected
1000 units

r=inf

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (2, 2)
320 filters
r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x7 / (1, 1)
192 filters
r=(31, 79)

BatchNorm2d
r=(31, 79)

relu
r=(31, 79)

Conv2d 7x1 / (1, 1)
192 filters
r=(79, 79)

BatchNorm2d
r=(79, 79)

relu
r=(79, 79)

Conv2d 3x3 / (2, 2)
192 filters
r=(95, 95)

BatchNorm2d
r=(95, 95)

relu
r=(95, 95)

Conv2d 1x1 / (1, 1)
320 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
384 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
448 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x1 / (1, 1)
320 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
384 filters
r=(31, 31)

Conv2d 1x1 / (1, 1)
448 filters
r=(31, 31)

avg_pool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x3 / (1, 1)
384 filters
r=(31, 47)

Conv2d 3x1 / (1, 1)
384 filters
r=(47, 31)

BatchNorm2d
r=(31, 47)

relu
r=(31, 47)

BatchNorm2d
r=(47, 31)

relu
r=(47, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
384 filters
r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 1x3 / (1, 1)
384 filters
r=(47, 63)

Conv2d 3x1 / (1, 1)
384 filters
r=(63, 47)

BatchNorm2d
r=(47, 63)

relu
r=(47, 63)

BatchNorm2d
r=(63, 47)

relu
r=(63, 47)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

AdaptiveAvgPool2d
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 1x3 / (1, 1)
384 filters
r=(31, 47)

Conv2d 3x1 / (1, 1)
384 filters
r=(47, 31)

BatchNorm2d
r=(31, 47)

relu
r=(31, 47)

BatchNorm2d
r=(47, 31)

relu
r=(47, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Conv2d 3x3 / (1, 1)
384 filters
r=(47, 47)

BatchNorm2d
r=(47, 47)

relu
r=(47, 47)

Conv2d 1x3 / (1, 1)
384 filters
r=(47, 63)

Conv2d 3x1 / (1, 1)
384 filters
r=(63, 47)

BatchNorm2d
r=(47, 63)

relu
r=(47, 63)

BatchNorm2d
r=(63, 47)

relu
r=(63, 47)

Conv2d 1x1 / (1, 1)
192 filters
r=(31, 31)

BatchNorm2d
r=(31, 31)

relu
r=(31, 31)

Dropout
r=(31, 31)

flatten
r=(31, 31)

Fully Connected
1000 units

r=inf


